1e slope of the tangent line at the following points. Then determine
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nterval notation, determine the x-values where the graph is increasing. Estimate the

where it changes. _
(-2, 78) (1.6,°)

nterval notation, determine the x-values where the graph is decreasing. Estimate the

where it changes. (‘—.5 ’ ’ (’>

rivative is graphed below, compare the intervals above to the values of this graph.
0 Q. Canany conclusion be made?
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> derv is positive, the original is increasing.

> derv is negative, the original is decreasing.

> derv Is zero, the original is at a minimum or ma

> second derv is positive, the original is concave

> second derv is negative, the original is concave

> second derv is zero, the original is at a point of
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